| a.
$$\rho = \{0, \nabla \cdot \overline{f}\}$$

 $= \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
 $= \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
 $= \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
 $= \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
6. $\rho = \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
 $= \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
6. $\rho = \{0, \frac{1}{f^2}\} \text{ar} (r^2 \hat{E}_r)$
 $= \{0, \frac{1}{f^2}\} \text{$

V continuous
$$Q r = R$$
 $W (R) = AR^3$

= (4/3AR3 - Ar3/3)

2.
$$e(\vec{r}) = q \delta^{3}(\vec{r} - \vec{r_{i}}) - q \delta^{3}(\vec{r} - \vec{r_{i}})$$

3. a $Vin(r, \sigma) = V_{A} + V_{i} \frac{r}{R} \cos \theta$

$$Vout(r, \phi) = V_{A} \frac{R}{r} + V_{b} \frac{R^{2}}{r^{2}} \cos \theta$$

$$Vout(r, \phi) = V_{A} \frac{R}{r} + V_{b} \frac{R^{2}}{r^{2}} \cos \theta$$

$$Matches @ r = R$$

6. $D(\sqrt[3]{n}) = \Delta^{2} \sqrt[3]{n} r = -\sqrt[3]{n}$

$$\int \sqrt[3]{n} r |_{R} = -\sqrt[3]{n} r - \frac{2V_{b}R^{2}}{r^{2}} \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = -\sqrt[3]{n} r - \frac{2V_{b}R^{2}}{r^{2}} \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \frac{V_{b}r^{2}}{r^{2}} \cos \theta + \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \frac{V_{b}r^{2}}{r^{2}} \cos \theta + \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \frac{V_{b}r^{2}}{r^{2}} \cos \theta + \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \frac{V_{b}r^{2}}{r^{2}} \cos \theta + \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r |_{R} = \sqrt[3]{n} r \cos \theta$$

$$\int \sqrt[3]{n} r \cos$$

5. a.
$$\vec{p}$$
 uniform \Rightarrow $\vec{p}_1 = 0$
 $\vec{\sigma}_1 = \vec{p} \cdot \vec{n} = 1$
 $\vec{\rho}_1 = \vec{p}_1 \cdot \vec{n} = 1$
 $\vec{\rho}_1 = \vec{p}_2 \cdot \vec{n} = 1$
 $\vec{\rho}_1 = \vec{p}_2 \cdot \vec{n} = 1$
 $\vec{\rho}_1 = \vec{p}_2 \cdot \vec{n} = 1$
 $\vec{\rho}_2 = \vec{p}_3 \cdot \vec{n} = 1$
 $\vec{\rho}_1 = \vec{p}_2 \cdot \vec{n} = 1$
 $\vec{\rho}_2 = \vec{p}_3 \cdot \vec{n} = 1$
 $\vec{\rho}_3 = \vec{p}_3 \cdot \vec{n} = 1$
 $\vec{\rho}_4 = \vec{p}_4 \cdot \vec{n} = 1$
 $\vec{\rho}_5 = \vec{p}_5 \cdot \vec{n} = 1$

No free charge so D continuous

6.
$$\mu = i \cdot \# R^2 - i \# R^2$$

$$= 0$$

$$7. \quad \vec{F} = 52$$

$$\begin{array}{rcl}
\sqrt{35} \\
\sqrt{55} & = & \beta p - 2 + 5 \\
= & \mu \cdot \text{Fen}(5) \\
= & \mu \cdot \text{Fen}(5)
\end{array}$$

$$= po \int \frac{1}{3} - \delta q$$

$$= po \int \frac{1}{3} - \delta q$$

$$= po \int \frac{1}{3} \cdot 2\pi x \, dx$$

$$= po \int 2\pi x \, dx$$

$$= po - 2\pi x \, dx$$

$$= po - 2\pi x \, dx$$

$$= po - 2\pi x \, dx$$

$$\begin{array}{cccc} (heck & \nabla \times \vec{b} &=& \frac{\mu \cdot \kappa}{3} \hat{t} & S \angle R \\ &=& O & S > R \end{array}$$

$$\frac{6 \vec{H} \cdot \vec{l} \vec{e}}{= H \cdot L}$$

$$= I + e \times L$$

$$= NI \cdot L + S$$

$$\Rightarrow N = N = N = S$$

$$\overline{V} = \mu_0 \left(\overline{H} + \overline{M}\right)$$

$$= \left(1 + 2m\right) \frac{\mu_0 N + 4}{2 + 5} + 6$$

$$C. \overline{J_0} = \overline{D} \times \overline{M}$$

$$= \frac{1}{3} (M_{\text{p}}) \frac{2}{4}$$

$$= (0)$$

$$\overline{K}_{6} = \overline{M} \times \widehat{n}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot b} \cdot \widehat{t} \quad \text{outer}$$

$$= \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 5} \cdot f \quad \text{oner}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{inner}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{inner}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$

$$= - \times m \cdot \frac{NI}{2 \cdot \overline{t} \cdot 6} \cdot \widehat{t} \quad \text{outer}$$